Chem 12 Lab 3A:  Precipitation Reactions
Question:  

Which combinations of ions will form a precipitate?  Which will not?
Procedure:

Combine different solutions of metal salts (one drop of each) in separate spaces on a spot plate.  

Data collection:

The following data chart will be the most effective way to display your results. 
What will you be trying to observe in each combination?

	SET 1 
	Na+
       SO4-2
	Al+3         

        Cl-1
	Al+3          

       SO4-2
	Sr+2
       NO3-1
	Ba+2
         Cl-1
	Ba+2
       NO3-1

	Ba+2
       NO3-1
	
	
	
	
	
	No rxn

	Ba+2
         Cl-1
	
	
	
	
	No rxn
	

	Sr+2
       NO3-1
	
	
	
	No rxn
	
	

	Al+3         

       SO4-2
	
	
	No rxn
	
	
	

	Al+3          

        Cl-1
	
	No rxn
	
	
	
	

	Na+
       SO4-2
	No rxn
	
	
	


Data analysis:

Look at the combinations that formed a precipitate.  There are two possible products that this precipitate could be.  How will you tell?  Identify each of the precipitates. (Use C/E/R)
	SET 2 
	K+1
        OH-1
	Na+1          

        OH-1
	Co+3         

        Cl-1
	Co+3
       NO3-1
	Fe+3
         Cl-1
	Na+1
       NO3-1

	Na+1
       NO3-1
	
	
	
	
	
	No rxn

	Fe+3
         Cl-1
	
	
	
	
	No rxn
	

	Co+3
       NO3-1
	
	
	
	No rxn
	
	

	Co+3         

        Cl-1
	
	
	No rxn
	
	
	

	Na+1          

        OH-1
	
	No rxn
	
	
	
	

	K+1
        OH-1
	No rxn
	
	
	


Data analysis:

Look at the combinations that formed a precipitate.  There are two possible products that this precipitate could be.  How will you tell?  Identify each of the precipitates. (Use C/E/R)
Summarize your data:

Create a solubility chart for all of the ions you used

	NO3-1
	
Precipitates with:


Soluble with:

	Cl-1
	
Precipitates with:


Soluble with:

	OH-1
	
Precipitates with:


Soluble with:

	SO4-2
	
Precipitates with:


Soluble with:



Theory connection:   WHY do some salts form precipitates more easily than others?
